29. If 8k° + 15k3 — 2 = 0, then the positive

value of (k + %)1?21:2[—
afe 8k6+15k3—2=0 & a (k+%)

N 2
QQS)'HS(_Z'O T UATCHS AT FIT &7
‘\é/g %2% b)Z% c)8§ d)8%

Pok= -16 < h k%

Saﬁ: s

:—’2(_\_
X R

K=1
o}




20. If x # 1,2 and 5, then the simplified value of
{2(x3—8) x x2+2x+1 x2+2x+:l

- is equal to
x2-x-2 " x%2-4x-5 3x—15 q

2(x3-8Y" x%+2x+1  x%42x+4 _n
x2-x-2  x2-4x-5 _ 3x-15 |’

' “i 3
WMM R W

IR x¢1,2,5a’r{
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2|. 1f 4V3x? + 5x — 2/3 = (Ax + 2)(Bx + C), then what is the value of (4 +
B+C)?( >0
Ife 44/3x% + 5x = 2\/_—(Ax+@(Bx+C)% (A + B + C) FT AW
AT FI (4 > 0) +~ ¥ ] e
A ma+v3\ 2 o2v3 d)4-+3

_Qq<2
5 -3

YWr+8x-3x—2[3
= Y% (ﬁx.\.z)_ﬁ(\ﬁx-\'l)
() -

3
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— 32. If the equation k(21x%+24)+rx+

/R -
A + b, x+é =0 (14x* —9) = 0, k(7x* +8) + px +
2 - 2x% — 3) = 0 have both roots common
w + b '(‘fctz”o ( : !
d z z then the value ofg is :
G _ by _ & afs WA k(21x% +24) +rx +
a, by C+ (14x% —9) = 0, k(7x2 +8) + px +
g (2x2-3)=0 ¥ gl He 4TSS
A _ ¥ Juk=s 8 @ < & A A A
- —= 1 2 4 7
Kty P Bea //éf 3 b)5 93 A3

| | 4
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. Ifax? + bx + ¢ = a(x — p)? then, what relation among a, b and c?

@'ﬂﬁ'ax +bx+c=alx— p)Z%H’rab&ﬁTCa?a"EramTW

/bz—élac b)2b=a+c
c)abc =1 d) b? = ac

QaZ+bx+C = ot - AapPL + QP?'
o Compaturg Hhe cocffjiends,
b= -20p & C=04"
Compaiong Hho velust of, * from bo #h 2and,

b _C 2_
L2 = = b =UWac
Uax &

D —




Sridharacharya formula:

. S

ax tox+C=0 1.1,2—6'11-5:0

x = b +m K= 6§M =5, |
20

X = —btfg\ac ,—b- W ]36—%-41
200

D —



2 .
Y. Ifx= i 2 then what is the value of x ?
+
2+—2p
2+?

ﬂﬁx=2%,r-r‘rxa»‘rmm%?

@ &
a)-2+2V3 MBothc&d /\/_—1 d)—v3—1

Yy
L+ X

=) 422-2=0 -l-J2 —ve x

\&q\*g x=-11 23 | \132
&\ J: 12 e \/

D




Maximum / minimum value:




[. At what value of p, the expression p> - 4p + 5 attains its minimum?
p & AT & T p>-4p + 5 F AT ATH N?
2 b) 3 c)a d)-2




2. At what value of x, does the expression 2x* - 48x + 3 attains it
minimum?
x & fF A & AT 2x° - 48x + 3 FT AT FATH FHEN?
a) 24 ém/ﬁz )6 d)-12

=K ug
2" 3 12




3. The expression (x — 3)(x — 7) attains its
minimum value when x =
x & g AT W x-3)(x - 7)\m eI H

AT B1M?
/fﬁ b) -5 c) 10 d) -15
*=3, 7
A= SOK; \o 3
A




Y. The expression —3x% + 15x — 7 attains its maximum value whe@
X & 6T AT W FaF —3x% + 15x — 7 &1 AASHIH FAHT AT
JATTan?

a)5 b) -5 %5 d)—-2.5
2= K. ZIS 5
2 Ba3




5. Find the minimum possible value of 2x? - 3x + 7?
2x% - 3x + 7 F FYAdH FHT AT AT F|

47 3 3 3
/? b) 3 )3 d)g

’l: .SL(S'_ 3—;—3— -— z
SRVl =Wac b
Yo,
QIXQ _7.)% +7 = 56'6
He Y 3 "\%
= q"‘?'?gé__\n
g %




6. Find the minimum possible value of the expression x + 2x + 5,
where x is a real number?

IR x U qEdfad WEAT 8, a x% + 2x + 5 & +qeTaH WA

LI ECRIEN
a) 16 b)0 b) -4 4
V %
I;SDK_—__z
7— Q i 'QO—L’ - |4
1-245=y 1N

15



7.What maximum value can be attained by the expression

— x% + 7x — 12, where xe€R.
—X2+7X—-12 T A AHdHA TAT AT FAT gHENM, R X TH

IEddE TE&AT 82

a) 4 b) -4 ,}9’/% d) 3
A=SeR_-7 _12 _

e 2| 8w

16



2. Find the minimum possible value of the expressiona® - 5a + 3,

where a is a real number?
a’- 5a + 3 &1 ~FAdH AT AT FATd HY TdfH a Th

aafas e 8
a) 3.25 /6’ _3.25 65  d)—65

|Q—Q§ _-13

Y v

D —

17



9. What is the minimum value of the expression x> — 8x + 8?

x? — 8x + 8 & ~qAAH AL F4T §7
1 b) -1 -8 d)8
a) ) /1— ) a=|, b=-8, (=8
min. Value = Yac—b
Yo

32-6“ = -_3_2_ =-8
Y Y




0. Find the maximum value of the expressio

———— hAF FT AT AT AT FA | min

x +155x+10 A |

a) b) 1 /E d2 _ | _y
WAA ’SZ1 Ay

i Y0-2
q. wn - LS _IS
CL Wax \ﬂ _q

CDS 8 Sep 2019 19



I|. Areal number x is such that (x — x?) is maximum. What is x equal to?

x TF V) arEdfas @&ar § & (x — x2) 3ftFad 81 x Fas

TR 8?2
a)-1.5 b) -0.5 Ms d) 1.5

—xT+ %

20
CDS 8 Sep 2019



|2. If x, y, z are_real numbers then the minimum value of (x — 3)2 +

3(y +2)2+2(3z—4)%is
IR x, y, z AFATAH HEATC § a’r 3+ 2
HT vgddH AT AT FY| S A\ N
a) 1 -1 gb d2 ° O O

=@

2L
(5)=ayg
~ el =3, W=- -y
CS\)—Q'; / 5(7 Z 3
Y=
L
Qb):b

D — =



15 . If x, y are real numbers then find 12x — y when (2x — 3)? + 4(y +
3)% + 2(x + 2)? achieves its minimum value.
IR x, y AEATAF FEIAW § aF (2x —3)2 +4(y + 3)2 + 2(x + 2)2
& ATH AT & AT 12x -y F71 A« F41 gE? T
a)-9  _BY7 c)0 d) 5

f2x! _ () = =
U127 +9 X’é ) =%3=7
A48 4 R
(EC-Uma) e
(xk ’K=S°$-_-M_:\ - O

| | 22



\1. If x and y are real numbers, then the

2 least possible value of 4(x —2)% +
1z 16416 (y—3)?%—-2(x—3)%iss
_QLZ',-IZQ,-HX Iy x 3R y aalds weaw §, a

4(x =2 +(y—3)*-2(x=3)* &I

~AdH HHT AT §:
@Dy F

16-16
Il




?‘\"}f a-2
Pq; a+?%

5.

P*9% a-Ua+4-2a-6

= aj.'_éa-Q

-8-36

KD
D

§__|I

If p, q are the roots of the equation
x*-(a-2)x+a+3=0 , then the
minimum possible value of p* + q* is:
I p 3R q FHAFIT 2% (a-2)x + a +
3=0F HA & A p° + q° T el
AT AT

a)11 %11 c)7 d) -2




Nature of roots:

|, 2 V—?ﬂ-ré? O o )

= -Ux +4y=0
‘+J§>/l’\r3 1"21";1:0
|44 -

Mtim-i |2 Haxt = o
2222

J

D et



o L+bz +C =0 |
fL:._ —b = b%-%a,c

| & abceRr L
I) o b-Yac < O Fve j:\/“Yw
\m&af'\m}va £ U/v\u\v\s& J_; o
Q:Il/waA

"‘OJrS—V{ —b- S_\,(_
W Qo

| | 26



i) 3 b-Yac=0 [ptuac | JO

ool & equdd

-btJo _-b-Jo__b
o7/} 7GRN

27



i) 9§ b-uac >0 Joe

Real & Unsgqual
—b 'I‘J:V_Z, —lo— ve
SN A0 =
@) b-Ya( = Ve)x)fd STCYIRTN
Rotiowal (dfiziar )

b) o=y m\%jé Y m3%§
D —

28



6. Which of the following equations has real roots?

farer & ¥ frw wHletor FHA adaias ©?

3x> +4x +5 =0 b)x +x+4 =0
/ﬁx —7x+5=0 d)2x2-3x +4 = 0
®) 16-60 x tve
2
b) (-6 X b-Mac >0
C) U\O{—V(O:G)\/

29



t7. For what value of ‘K, does the equation x> + kx + 125 = 100 has

unique positive root?
K& g AT & fav gHor 12 + kx + 125 = 100 FT THAH
HATCHS gl GIINT?

‘l/ d) None

a) 10 b) - 10 /ﬁo or—10

2
“Yac = 2
b-Uac=0 | L A+KX+Q5=0

K’L-\(S’D= o
A=\

D 30




2. What is the maximumthat ‘k’ can take such that the roots of the
equation 2x> + 5x + k arereal?

3T WHIEROT 2x% + 5x + ki Hel adfa® @ dr k &1 JfRFaHA
QUi A AT
/fé b) 4 c)-3 Jﬂfﬁ’

2
—Yac 20
J5-8K 20 kf 1o
Er

=) 8K <25 ~ .-




I19. What is the smallest integer value of ‘k’ such that the roots of the
equationx®> - 5x + k + 2 = 0 are imaginary?

IR GHSIT x> -5x + k+2 = 0% HleYfeldh g ol k HI
FgAdH YUITEH AT AT I
a)-5 b) 4 /ﬁ d) none 'JLTL

bz—-\mc <0
25 -Uk-2 <o 4l

\1
D 17 <Yk =
= Wk W5 & T
= LSRR
TR

D 2

| )
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